) ; ‘
/

WA 113 | Weoss =17-13 (Class piore s |

[ g S

CA L/'“‘-/ ﬂe .Z:/Ve/;c Coﬁéfwjd%;
@cﬁgvﬁ atd Cosecnt Fomemnls

Ty

—

/i&) ‘/’Ae, /\/\/Vé‘/fe‘f oF THe. /\ﬁfl'(/)m(m *Qd(ﬂéu_j

vy O

M "/ .
Carccot(x) = cot (x)  Dimaw: TR

ﬁﬁn’(fcz OL 4.77’
@u/]oar,zr

Py N

¥ PO{:' (%) = -'Z?f-—- -&L/w—’(x)]

A viebe oAt fll

g\
i - v—-l — .
arcSec () = Sec (><) = (oS I(RL) ’¢,

Ix{2]

@f/ﬂ'zﬁm‘gcﬂ) o ..‘.:g 5’7f é#g 'Damm# )

Arcese(x) = ¢sc’(x) =S’J,(§<L) (P x|l
. @r/ﬂ?}lﬂch “gsg ﬁ,% )2‘;&0 Domuin

K See NotE AT Aozqom o+ %4 /f"if‘i

@/&'&-\r" ‘?Qr' @u/g (/



Y

; 0

/ T(HOO,#E )

7

/ W 800 [bs
Toz !

THTtwW =2 (go,o)
- (809, 90)
~Tr (oo, 225°)

T2 -+ T,

<=

[}
~Wx = BoocesT0 = O
T D Yoo Cos 2ZS = T282.943
Tax = -2¢82.843

A

~ly D Goos 90 = 80O
"773 D Lo $id zz‘(°‘= -2872.84%3
AT'Z,(a— - 577./57

@Ep Ta (-282.443," §17-/87 )

Q (Tl = SCeszgn)®+(G11.0s7)"~ 587.450

.
0= Ly (_ZZ Lo ) =G 326 = 6= I8L7S

@2 = (589.5, 18-7 )]




@ (O“{-—- /;25)8 Del??aiue,é\s
lQQZS! K
CAaﬁée,—\[o 70/&f'
lr\ = ,YQQ&-&’«(«»}.L)& = [, 3

U 4= (LF] = Crsse”
s =—C380°

&,g Cis (-67. 390)3
= ).360;5 (8°(—é%39o))
0. 1c7Cis (-539.04)

0IE 2 B.057(rs (190 %) = -5t
Back o /\éfC—-an,uéu/Ar

8.)59C0s (180.96) + 8- 1750 (180:96) ¢

(b5 ~0lx ¢ )

8

0= 16075




